sl lles 3% Al taule 8ty dol

P> 9dg dix o) sl 1B - 26331
15l

JB9 lodlg ddiall Sya 0y a9y Bogdy Jill zyls dlile dix o) Judll 909 oo B 8o gl o
cody9xto Ll dals ye Lag doyl Blgh

Aodall Yyl

plual jo2o

ply> dlallg cmdawgicuiplwwuow OT‘A@_QT O)Acgia;x]epi
giélﬂb‘lf.ﬁ.sz”5)A>;¢)4¢U39:JAK”JM'M&>&:JL:PPTOAL}J$
Wl alydl oS> 3 Yl &Yt aw ade oIS o] Leully LoBYl Blgbg yuadl
of dedeg Jo¥l Mol amy J33Tg ilyal I8 pa g dawdy Mg ¢ el dle pyoey
ool L5 i @il oo ol s )3 yousg e Jasll 130 Jza) sgoy Yo dll yasiu
Y] e I3 I B ysleall e lgllg e Sall pysll elyid e aes

b33l allys
 olug 4oy dlly sama L Lle dlll Log

1/1


https://m.islamqa.info/ar/answers/26331
https://m.islamqa.info/ar/answers/26331

